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QUESTION 1

Which two seeded job roles have access to the Setup and Maintenance work area and can access all payroll setup
tasks? (Choose two.) 

A. Payroll Manager 

B. Payroll Administrator 

C. Application Implementation Consultant 

D. Payroll Interface Coordinator 

Correct Answer: BC 

Reference: https://docs.oracle.com/en/cloud/saas/procurement/r13-update17d/oapro/overview.html#OAPRO1684917 

 

QUESTION 2

A customer has asked for notifications to be sent for tasks within a flow pattern. Notifications can be sent based on the
statuses of the flow task. Which option shows the task statuses that are supported? 

A. Error on Warning 

B. Error, Warning, Complete 

C. Error, Warning, Complete, In Progress 

D. All Statuses 

Correct Answer: C 

 

QUESTION 3

What is the maximum number of segments that a cost allocation key flexfield can have? 

A. 15 

B. 30 

C. 25 

D. 10 

E. 20 

Correct Answer: B 

Reference: https://docs.oracle.com/en/cloud/saas/global-human-resources/18c/faipc/payroll-
costing.html#FAIPC1185917 
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QUESTION 4

Your customer is using HCM Cloud Absence Management and wants to transfer absence information to Cloud Global
Payroll so that it can be processed. Aside from creating your absence plan, which two steps do you need to complete in
Cloud Global Payroll? (Choose two.) 

A. Create your absence elements 

B. Create an Absence Calculation Card to store the absence details 

C. Create element eligibility for each absence element 

D. Manually enter the absence units in the employees\\' element entry 

Correct Answer: AC 

Reference: https://learn.oracle.com/ords/launchpad/learn?page=integrating-absence-with-global-
payrollandcontext=0:40769:40756 

 

QUESTION 5

You notice that the Cost Center segment, which is defined using Manage Department Costing, has not been populated
for an element in the costing results. 

What are two reasons for this? 

A. There is no costing option defined for the element. 

B. The costing type is defined as Distributed for the element. 

C. Element is at Payroll relationship level and the costing type is defined as "Costed". 

D. The costing type on the element is defined as "Fixed Costed". 

Correct Answer: AB 
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